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Figure I o

Under what conditions do A and B occur?

A L e I T T R L T Y R L LA L L LA LI NI AT LTI L L

L R Ty N R L L R A A LA L L L L

[ imark].” ‘_:

In what typ:  of organisms are (i) laclic acid and (ii) ethanol pro.dUCcd? -
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[ 2 marks] .

How does tie net production of ene  * differ between' A and B?
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With reference to B and Cir: . . gure ] above, camment on the concept of oxygen debt.”
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‘One of the products ofthe Kreb's cycleis hydrogen; State what hap] iglothishydrogen. T
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Sxplain how the hormone, ADH, affects the cells of A in Figure 6 when‘ihjc’\ er
potential of blood is low.

..
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[ 1 mark]
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How do ccll's, labelled  in Figure 6, assist with the removal of NaCl fron. _ :bulel in
Figure 57 - )
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How do cells in the wall of the tubule at G and M in Figure 5 differin lhc.irpcnnea:billty?
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. [ 1 mark)
Give ONE reason why glucose might be found at F in Figurs 6.
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What do you understind by the term ‘social disease*?
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[ 1mark]
Name a social discase, brought on by 'socialising’, that can affect the liver.
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[ Imark] .
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S1 1estTHR *socnlproblcms, other than the socxal disease, that may be brnugh{abou( '
by the condmnn mentioned in (b) above.’
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[ 3 marks]

Organ transplant technoli 7 offe  hope for a person whose liver has been damaged as
aresult of the social disease mentioned. Unavallability of a liver might be'a drawback.

() " MName ONE o('h“cr ous drawback.
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(i)  State the effects of | drawback mentioned in d (i) abeve,
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[ 3 marks])

Name O ™ slinical procedure Ltha{ ¢ah bé used to prevent the drawback mentioned in (d)

(i) nbove? .
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5 ~ TFigure 8 bclow ‘shows death rate in relation Lo body weight for men  of approximately the same
height, aged 18 - 40 years.
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- “(a) - At which pomls A, B, C, D or E in Figure 8 ‘would you cxpccl (i) starvation and (ii)
e -obesity lo have contributed to Lhc dcalhs of the men? . *
. Slarvation
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6] With reference to Figure 8 bctween which points, A-E, does the {'ange for ideal
body wcxghts for men 18 - 40 years exist? : : -

[ 1 mark)

(i1) Sta:: TWO ways in which ideal body weight can be controlled.
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